
130 131

final presentation
18

18.1. Final Site Plan at 1:500 scale on A1 portrait (Author 2021).

[a]
Final plans, sections & elevations

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



132 133

18.3.18.2. Final Ground Floor Plan at scale 1:100 on oversized A0 landscape (Author 2021).Floor plans 1:100 Key site plan indicating area of floor plans (Author 2021).

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



134 135

18.4.Appropriated Ground Floor Plan showing user appropriation and functions of spaces (not to scale) (Author 2021).

Fig 18.6. Top, page 137: Final First Floor Plan at scale 1:100 on oversized A0 landscape (Author 2021).
Fig 18.7. Bottom, page 137: Final Second Floor Plan at scale 1:100 on oversized A0 landscape (Author 2021).

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



136 137

18.6.

18.5.14.4. 18.7.

1
2

2
3

3
4

4
5

5

TE
M

PO
RA

L 
/ 

TR
AN

SI
EN

T
TE

M
PO

RA
L 

/ 
TR

AN
SI

EN
T

PE
RM

AN
EN

T

us
er

 
ap

pr
op

ria
tio

n
us

er
 

ap
pr

op
ria

tio
n

sh
ad

in
g 

de
vic

es
sh

ad
in

g 
de

vic
es

TH
 liv

in
g 

un
its

ve
rti

ca
l c

irc
ul

at
io

n 
& 

ab
lu

tio
n 

co
re

s
ex

ist
in

g 
he

rit
ag

e 
bu

ild
in

gs
ad

m
in

/s
up

po
rt 

se
rv

ice
s

TH
 liv

in
g 

un
its

cores2.1

admin & support service threshold2.2

transitional housing living units3

pergolas4

Various spaces and functions on the ground floor plan and their levels of 
permanence according to the Scale of Permanence (Author 2021).

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



138 139

LIVING 
UNITS

PE
RG

OL
AS

PE
RG

OL
AS

PE
RG

OL
ASEXISTING BUILDING LIVING 

UNITS
VERTICAL 

CIRCULATION 
CORES

ADMIN & 
SUPPORT 
SERVICES

ADMIN & SUPPORT 
SERVICES

LIVING 
UNITS

3 4 4 41 3 22 22 3

18.8.Final Section A-A at scale 1:100 on A0 landscape, indicating various spaces according to their levels of permanence (Author 2021). 

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



140 141

18.9.Final north and east elevations and associated materiality (Author 2021). 

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



142 143

18.10.Fig. 18.10.: Detail section through the living units of the Cluster A 
transitional housing at scale 1:20 on A1 portrait (Author 2021).

[b]
Technical resolution

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



144 145

brick infill, patterned & 
perforated walls2

18.11. 18.12. 18.13.
Cluster A key plan showing brick materiality of level 2 on the 
SOP (Author 2021). Detail 1: Brick facade and window detail at scale 1:10 when printed to full scale (not to scale here) (Author 2021). Detail 1 3D (not to scale) (Author 2021).

Detail 1: Brick facade & window (nts)

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



146 147

18.14. 18.15.
Cluster A key plan showing lightweight infill panels and 
partitions of level 3 on the SOP (Author 2021). Detail 2: Lightweight infill panel detail at scale 1:5 when printed to full scale (not to scale here) (Author 2021).

Detail 2: Lightweight infill panel (nts)

GSEducationalVersion

76x50mm SA pine base plate fixed to 40mm ct: sand screed and 40mm perlite filler screed floor, through to

reinforced concrete slab below with removable galvanised MS M12x150mm coach screw anchors, nylon

expansion plug and 30x3mm washers at max. 600mm centres.

Powder-coated 25x12x1,5mm aluminium unequal angle fixed to timber base plate with 25x3mm countersunk screws.
Powder-coated

25x25x1,5mm aluminium

equal angle fixed to timber

base plate with 25x3mm

countersunk screws.

Dark matt anodised Genesis EDA510 5x10mm Aluminium dividing strip between interior screed and exterior

screed to fall.

Painted 9mm Nutec high density (HD) fibre cement board fixed to 76x50 SA pine studs with 40x12 brass

countersunk wood screws at 300 c-c.

At joints, Nutec boards fixed to 2x 38x114 SA pine studs (to create wider 76x114 stud). Joint is sealed with

a foam backing and acrylic sealant to specialist spec.

Vapour permeable barrier fixed to timber framework with min. 75mm laps sealed with tearproof self-

adhesive tape.

Vapour permeable barrier fixed to timber framework with min. 75mm laps sealed with tearproof self-

adhesive tape.

76x50 SA Pine noggings at 800 centres.

76x50 SA Pine studs at 600 centres.

15mm Gyproc FireStop board fixed to timber studs with 40x12 brass countersunk wood screws at 300 c-c.

Painted 9mm Nutec high density board fixed to timber studs with 40x12 brass countersunk wood screws at

300 c-c, staggering Nutec outer layer and Gyproc FireStop board joints.

Primed and painted matte black 50mm wide x 8mm thick MS flat bar hanger slotted into wax-impregnated 125⌀machine-turned

cylindrical SA pine pole and fixed with galvanised M8x125mm bolt, nut washer. Flat bar hanger is in turn welded to primed and painted

110x110x8mm MS base plate, fixed to reinforced concrete slab above with M12 mechanical expansion bolts.

Wax-impregnated 32x69 P.A.R. SA pine battens fixed at 270 centres to

primed and matte black painted 2 x 35x35x3mm MS equal angles with

6mm galvanised steel countersunk wood screws. Steel angles are in turn

fixed to MS flat bar hanger and supports with galvanised M6 x 20mm long

MS bolts and nuts.

Primed and painted matte black 60(w)x350(h)x8(t) MS flat bar support

slotted into wax-impregnated 125⌀ machine-turned cylindrical SA pine

beam above, welded to primed and painted 150⌀ x 8mm MS base plate,

slotted into wax-impregnated 150⌀ machine-turned cylindrical SA pine

post/column below, and fixed in place with galvanised M8  x150mm long

MS bolts, washers and nuts.

Wax-impregnated 150⌀ machine-turned cylindrical SA pine post/column

fixed to primed and painted matte black MS flanged raised support with

galvanised M8  x150mm long MS bolts, washers and nuts.

Primed and painted MS flanged raised support with 80x8mm MS flat bar

slotted into timber post, welded to 120⌀ x 8mm MS raised plate and to

150x150x8mm MS base plate on 10mm chamfered non-shrink grout layer

and min. 30mm ct:sand screed to fall with Cemcrete exposed aggregate

finish, and fixed to reinforced concrete slab with galvanised M12 MS

mechanical expansion bolts.  Underside of steel base plate to receive a

layer of Bituminous paint,

DETAIL 2: Lightweight infill panel	 1:5

OUTSIDE
INSIDE

DETAIL 3: Timber pergola	 	 	 1:10

SIDE ELEVATION FRONT ELEVATION

DETAIL 3: 3D	 	 	 (nts)

lightweight infill & 
partition walls3

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



148 149

18.16. 18.17.
Cluster A key plan showing timber pergolas of level 4 on the 
SOP (Author 2021). Detail 3: Timber pergola detail at scale 1:10 when printed to full scale (not to scale here) (Author 2021).

Detail 3: Timber pergola (nts)

GSEducationalVersion

76x50mm SA pine base plate fixed to 40mm ct: sand screed and 40mm perlite filler screed floor, through to

reinforced concrete slab below with removable galvanised MS M12x150mm coach screw anchors, nylon

expansion plug and 30x3mm washers at max. 600mm centres.

Powder-coated 25x12x1,5mm aluminium unequal angle fixed to timber base plate with 25x3mm countersunk screws.
Powder-coated

25x25x1,5mm aluminium

equal angle fixed to timber

base plate with 25x3mm

countersunk screws.

Dark matt anodised Genesis EDA510 5x10mm Aluminium dividing strip between interior screed and exterior

screed to fall.

Painted 9mm Nutec high density (HD) fibre cement board fixed to 76x50 SA pine studs with 40x12 brass

countersunk wood screws at 300 c-c.

At joints, Nutec boards fixed to 2x 38x114 SA pine studs (to create wider 76x114 stud). Joint is sealed with

a foam backing and acrylic sealant to specialist spec.

Vapour permeable barrier fixed to timber framework with min. 75mm laps sealed with tearproof self-

adhesive tape.

Vapour permeable barrier fixed to timber framework with min. 75mm laps sealed with tearproof self-

adhesive tape.

76x50 SA Pine noggings at 800 centres.

76x50 SA Pine studs at 600 centres.

15mm Gyproc FireStop board fixed to timber studs with 40x12 brass countersunk wood screws at 300 c-c.

Painted 9mm Nutec high density board fixed to timber studs with 40x12 brass countersunk wood screws at

300 c-c, staggering Nutec outer layer and Gyproc FireStop board joints.

Primed and painted matte black 50mm wide x 8mm thick MS flat bar hanger slotted into wax-impregnated 125⌀machine-turned

cylindrical SA pine pole and fixed with galvanised M8x125mm bolt, nut washer. Flat bar hanger is in turn welded to primed and painted

110x110x8mm MS base plate, fixed to reinforced concrete slab above with M12 mechanical expansion bolts.

Wax-impregnated 32x69 P.A.R. SA pine battens fixed at 270 centres to

primed and matte black painted 2 x 35x35x3mm MS equal angles with

6mm galvanised steel countersunk wood screws. Steel angles are in turn

fixed to MS flat bar hanger and supports with galvanised M6 x 20mm long

MS bolts and nuts.

Primed and painted matte black 60(w)x350(h)x8(t) MS flat bar support

slotted into wax-impregnated 125⌀ machine-turned cylindrical SA pine

beam above, welded to primed and painted 150⌀ x 8mm MS base plate,

slotted into wax-impregnated 150⌀ machine-turned cylindrical SA pine

post/column below, and fixed in place with galvanised M8  x150mm long

MS bolts, washers and nuts.

Wax-impregnated 150⌀ machine-turned cylindrical SA pine post/column

fixed to primed and painted matte black MS flanged raised support with

galvanised M8  x150mm long MS bolts, washers and nuts.

Primed and painted MS flanged raised support with 80x8mm MS flat bar

slotted into timber post, welded to 120⌀ x 8mm MS raised plate and to

150x150x8mm MS base plate on 10mm chamfered non-shrink grout layer

and min. 30mm ct:sand screed to fall with Cemcrete exposed aggregate

finish, and fixed to reinforced concrete slab with galvanised M12 MS

mechanical expansion bolts.  Underside of steel base plate to receive a

layer of Bituminous paint,

DETAIL 2: Lightweight infill panel	 1:5

OUTSIDE
INSIDE

DETAIL 3: Timber pergola	 	 	 1:10

SIDE ELEVATION FRONT ELEVATION

DETAIL 3: 3D	 	 	 (nts)

timber pergolas4

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



150 151

18.18. Detail 3 3D (not to scale) (Author 2021). This page is intentionally left blank

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



152 153

[c]
Final model & pin-up photos

18.19.Compilation of photographs of final model (Author 2021). 

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 



154 155

18.20.Compilation of photographs of final model and pin-up presentation (Author 2021). 

 
 
 

 

©©  UUnniivveerrssiittyy  ooff  PPrreettoorriiaa  

 




